MRBERNE (7H—HRILE)

1. #iE= RYLZREHNI1=v k |

2. &= PUZ-ZRP160KA6

3. HEExT (K158
(1#[/EE GBEHES)
(2)7vh—RIL b+

DBAK
@44 X - ik

@1 XL Y OHMEE (FFREICK DUTEE)
ORBERZEEABADIRY ZRTDRAOT o h—HRIL FOBRAHK

(FEPIELYKBBELETOES
(4)REFTBAAMDHT=RIL RSV

(B)EET HAMMSATzARIL FRLMSEIFEDFE TOERE

W= 120 ke

Y T

=M s

A= mm?’= m?
M=l 2 K
Hg= 555 mm= m

L= 370 mm= m

Le=| 180  mm(Lg<L/2)= |0.180 Im

4. REGE (BREONMERAUT2HBZEERAALTEL)

(1) EEAKEEE
(2)EtANEERE
(3)EREtRAKTEHEN
(4)BEtAMEMED
(58)7vHhH—HIL bDEIIRA
(6)7rh—RIL FDBAKS
(7)7oh—RILFZETBIEHE

@BIEREHE

QEAMIEHE
QBIERELAMERFICRZITHHE
f=f2L. fts’' =ftd & Ffts=fts’,

(8)7vh—IL FDIETE
D7 vh—RIL ORI E
@avy)—trOES
@RI FDEARSE
@FAEBIRAE

K= 10

Kv=kh/2= 05 |
Fh=Kh-W-9.8=| 11760 N
Fv=Kv-W-98= 5880 N

Fh-Hg~(W-9.8-Fv)-Lg

*RIL DR BEHES L VT U A—RIL FDSIERFBFSHRFTER.

= 739.0 N
Q=Fh/N= 294.0 N

L-Nt

RILE(SSA00)DEFEBIRIES ft

0 =Rb/A= MPa  <ft=176MPa
RILE(SS400)DEFE L AMIEN fs
T=Q/A= 38  MPa <fs=102MPa
fts'=1.4ft-16 T = MPa
fts' Dt & Efts=ftTHHNDT  fts= 176 MPa
o= 9.5 MPa < fts= 176 MPa
= FRERIB T h—
= 120 wm= [ 0120 [m
=70 wm= [ 0070 |m

Ta= 3200 N > Rb= 739.0 N

UEDBSEREV T oh—HRIL FE+R LG 2EBEEFT 5.
PSR RS - PETISS120065 RERY 125 5.

1050 330
X
< > BB
A
N
- He= 555 pp
Lg= 180 mm
X= 660 mm
~_| 1+ G § G
T " T
L= 370 mm
o0
o
N [T Y
[] 600 LT Y V. g
) < 300 °
B 1

PUZZRP160KA6-TSH



